I 1 REFHZKEAKX f(z), #HL (1) =0, f(0)=1, f(2)=0.

SIRR 2 MR 77 kPN T 2| AR AR 6L R AR, do RARZ, BT 2 09T AT
0.
31‘1 + 4I2 + 21‘3 = 7,

(1) < 3z + xy — 323 = 19,
3x1 +4xo + 63 = 15.

3x1 +4xo 4+ 2203 =17,
(2) {31 — 223 = 19,
31’1 + 4%2 + 2%3 =15.

3x1 + x9 — 3x3 = 19,
(3) 3x1 +4xe + 223 =17,
3$1 + 71‘2 + 7173 = *5.

SIRR 3 AR IEMEIER: 13423 4. 4 = (M2

SIER 4 M REMEIER: %A RS X,
(AEATEFX: h h—E¥EH NHEEEESH n, A (1+h)" >1+nh).

. A:=b% - 3ac,
SJE 5 X wq, w0, 23 A —ALEZRFTHE axd+br’+cr+d =0, (a # 0) B9 =AM, 4 {
B :=bc — 9ad,

1El#] A:B:()Elff,:m:xz:xgzg—f.



